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% # 403,315 204,663 198,652
1 i b ¥ [ 4,423 2,202 2,221
2 AT N4 Y B B & 8 4,078 2,141 1,937
3H O H oH B S5 b v fE 5,441 2,967 2,474
4 ¥ J: 7N ¥ % 6,455 3,422 3,033
55 BB SN E B HE BT 3,527 1,871 1,656
6/ 1T AN R f# 5,005 2,629 2,376
TEOE kM S NH W AR 8,029 4,486 3,543
8® £ & N T K 8,333 4,372 3,961
9 & 5 Hh = % 6,101 3,318 2,783
10%& B 1 ik 5 v & v fE 4,684 2,503 2,181
1M 17 # N F K 3,617 1,892 1,725
12 4 H B = B 3,448 1,822 1,626
13 #r e /I 2 ¥ 8,029 4,206 3,823
4mE B ok R 7,810 4,048 3,762
1517 18 X AT 8,846 4,785 4,061
6 % 15 B v = fH 2,848 1,485 1,363
7% B O - R F 6,517 3,442 3,075
18 =& /N = % 9,354 4,873 4,481
19 & BE 7N ¥ 5% 3,591 1,838 1,753
20 #p biith h = % 4,569 2,421 2,148
21 17 1 /N 2 % 6,330 3,168 3,162
P NI o R - S/ Y = R 7,637 3,950 3,687
23 Wb i 74N 7 % 5,349 2,710 2,639
24 5% 7N ¥ 59 4,276 2,239 2,037
251 B m R K F i 7,747 4,408 3,339
26 JFEAH 773 WAV 330=T 41— 3,730 1,867 1,863
21T H A H w = 9,083 4,892 4,191
28 % N h = % 5,930 2,988 2,942
29 W i /I s % 6,053 2,997 3,056
30 L 7N ¥ 5% 4,746 2,389 2,357
3158 g i = 5 3,380 1,724 1,656
329 i yEF O w O M 2,506 1,254 1,252
33 =4 7N ¥ 5% 4,533 2,236 2,297
34 B il N 59 fi 7,292 3,584 3,708
BT A4 U R 4 H O 5,214 2,545 2,669
BE 75 BN K 2,853 1,336 1,517
37 4 H w oK - L 6,667 3,233 3,434
MmN H F &= 6,396 3,322 3,074
398 % wm ok kb v o Z — 4,412 2,285 2,127
40f 1w A N FEOK 4,897 2,512 2,385
41K M B N F K 8,164 4,152 4,012
42 )\ & /I = e 7,838 3,708 4,130
43 & i R 5 6,741 3,258 3,483
44 B 74N ¥ % 4,618 2,201 2,417
45 #j Fx i N 3,337 1,605 1,732
46 H 7N = 5% 6,280 3,177 3,103
47 B8 & 4N 7 % 5,737 2,949 2,788
48 K oAl £ B 2,755 1,385 1,370
49 KX M % FE [ 6,482 3,261 3,221
50 K | /I s % 2,827 1,438 1,389
517 JIl /B B & 0H 3,219 1,760 1,459
521 I M e S o B v BB 4,718 2,225 2,493
53 B H 7N s 59 7,207 3,548 3,659
7/ D 1 | AN R I S5 6,660 3,159 3,501
55 i JI 74N = % 5,735 2,760 2,975
F ¥ 5 K I E 306,054 156,948 149,106
56 E i 4N = 5% 2,529 1,238 1,291
57 & - i s % 2,888 1,390 1,498
58 &5 — th ¥ 5% 1,571 745 826
59 /S A = A NSRS S '3 4,481 2,140 2,341
60 VN X W\ X & ¥ — dt o7 2,882 1,446 1,436
61 & Y fHE 7] fil 4,158 2,019 2,139
62 s ] A= S '3 5,103 2,500 2,603
63F ¥ L v U 4y 2,615 1,257 1,358
64 57 7 = 5% 3,655 1,777 1,878
6576 f1 H H 1B = f§ 2,703 1,295 1,408
66 & 7 74N ¥ 5% 6,182 3,082 3,100
67 g7 = 1% 4,046 2,014 2,032
68 4 K H Zi I S 3,235 1,576 1,659
69 % = h = % 5,674 2,823 2,851
0% A R A ¥R 9,023 4,381 4,642
1T A B ¢ %R 3,899 1,914 1,985
72 K 7 4N = 5% 6,954 3,382 3,572
73 54 B 7N 5% fi 3,022 1,542 1,480
74 K is| H b1 P 5,482 2,650 2,832
75 ¥4 H 7 7 % 7,473 3,784 3,689
(I LS S A VR SR A 6,360 3,220 3,140
(AN Iy = (& 1,874 920 954
78K BT O O o & pr 1,452 620 832
F ¥ 6 K I F 97,261 47,715 49,546
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. wHo | BEE | WRES | s % =
EEA - BATFAR e | s | ORmEEs0 | 6 | e lmeon| g e
x & Pt E B

EAk24.12.16 (&2 380,170 218,563 44,063(43,133) 57.49 111,945 57.65 106,618 57.33
(NFR)TEERZESX| 285,191 162,020 32,423(31,814) 56.81 83,931 56.93 78,089 56.68

TIEIRE6IX| 94,979 56,543 11,640(11,319) 59.53 28,014 59.89 28,529 59.18
(epiftE) | 380,170 218,416 44,086(43,131) 57.45 111,870 57.61 106,546 57.29
26.12.14(/)N%E24X| 382,891 191,113 46,871(46,093) 49.91 98,079 50.26 93,034 49.56
(NFR)TFHERESX| 288,122 141,355 34,328(33,859) 49.06 73,304 49.34 68,051 48.77
THEIEE6[X| 94,769 49,758 12,543(12,234) 52.50 24,775 53.19 24,983 51.84
(Fepifts2)| 382,891 191,015 46,870(46,090) 49.89 98,038 50.24 92,977 49.53
29.10.22(/NEZE[X| 399,692 194,523 75,929(75,008) 48.67 98,528 48.55 95,995 48.79
(NER)TFEERZESX| 302,682 144,728 55,804(55,227) 47.82 73,995 47.64 70,733 48.00
THEIRE6IX| 97,010 49,795 20,125(19,781) 51.33 24,533 51.51 25,262 51.15
(Fbfifts%) | 399,692 194,457 75,922(74,999) 48.65 98,496 48.53 95,961 48.77
Z & bt ® A
16. 7.11G&#2X) | 371,140 183,797 24,689(23,670) 49.52 93,854  49.15 89,943 49.91
(BeffF)| 371,640 184,003 24,839(23,684) 49.51 93,985 49.15 90,019 49.90
19. 7.29G#24X) | 378,031 199,771 40,120(39,061) 52.85 102,402 52.61 97,369 53.10
(Eefift#2)| 378,031 199,689 40,128(39,064) 52.82 102,363 52.59 97,326 53.07
22. T11GE2X) | 381,825 201,772 42,119(40,820) 52.84 103,560 52.81 98,212 52.88
(Fefif#2)| 381,825 201,693 42,116(40,816) 52.82 103,519 52.79 98,174 52.86
25. 7.21(GE2X) | 382,095 186,810 45,673(44,738) 48.89 96,214 49.29 90,596 48.48
(Ebfifs2)| 382,095 186,765 45,679(44,743) 48.88 96,193 49.28 90,572 48.46
28. 7.10GE25X) | 394,650 202,783 53,938(52,717) 51.38 102,592 51.15 100,191 51.62
(Eefifts2)| 394,650 202,713 53,941(52,719) 51.37 102,551 51.13 100,162 51.60

Z ik bt B MK

Rk 14.10.27 369,755 71,569 5,120 19.36 37,836 19.81 33,733 18.87

I8 Hn =+

WR%17.3.13 366,635 132,704 12,066(11,523) 36.20 66,298 35.19 66,406 37.26
21.3.29 371,272 146,335 20,391(19,846) 39.41 73,961 38.83 72,374 40.03
25.3.17 372,748 100,926 20,396(19,935) 27.08 50,020 26.32 50,906 27.86

B & & & B

ER%19. 4. 8 366,404 140,204 18,600(18,043) 38.26 69,072 36.75 71,132 39.86
23.4.10 372,682 138,446 23,232(22,692) 37.15 69,665 36.57 68,781 37.75
27. 4.12 374,919 123,645 28,663(28,128) 32.98 61,842 32.44 61,803 33.53

B % S B M X

Rk 2. 3.18 312,578 78,714 1,758 25.18 37,982 23.71 40,732 26.73
17. 3.13 366,635 131,727 11,237(10,729) 35.93 65,788 34.92 65,939 37.00
22.9.12 i

il &

Rk 21.11.29 375,532 112,495 16,423(15,963) 29.96 56,259 29.16 56,236 30.80
25.11.24 374,409 81,266 16,117(15,727) 21.71 40,697 21.33 40,569 22.10
29.11.26 393,815 121,124 32,624(32,130) 30.76 60,033 30.05 61,091 31.48
30. 4.22 (Ff%2%) | 391,001 132,822 35,169(34,697) 33.97 64,940 32.80 67,882 35.17

Mm% = % A

ER%19. 4.22 365,765 151,233 20,928(20,392) 41.35 73,593 39.23 77,640 43.58
23. 4.24 372,272 135,564 23,286(22,789) 36.42 66,813 35.12 68,751 37.77
27. 4.26 374,750 131,664 31,270(30,738) 35.13 64,776 34.00 66,888 36.30

Mk =2 B M X

Rk 25.11.24 374,409 81,232 16,100(15,710) 21.70 40,670 21.31 40,562 22.09
29.11.26 393,815 121,050 32,607(32,118) 30.74 59,978 30.02 61,072 31.47
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4 # % % %
Rk 26 4R 383,732 195,682 188,050
27 386,689 196,884 189,805
28 398,083 202,466 195,617
29 400,746 203,599 197,147
30 403,315 204,663 198,652

B mIEEEHEER S



	15-151
	15-152
	15-153
	15-154

